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Sem-VI Diploma Exam 2024 (Even)
(Civil Engg.) (Theory)
Public Health Engineering (2015602)
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Group (A) (7w -v)

Answer all questions as directed.
(Frormaam wsft wat o I )

(2x10=20)

Arithmetical Increase method for population forecast should be used for those
large cities, which have reached their saturation population.

(True/False)
ST qatIAT % forg st i faflr s swieT 37 & vl & for fora S =nfew, St stoeh wqw
SHEEAT q g I o (w@/mea)

Maximum hourly demand of maximum day demand i.e; peak demand is equal to
2.7 x Average hourly demand.

(True/False)

STfrhaw | Al fam & stfereman wfreier wim = fiwew wim 2.7 X i ufeer /i & e 2
(w@i/mera)

Amount of water for domestic purposes in litres per head per day is
(100/135/170)

] 9t o o ot ot wen st wfa o efer § 2
(100/135/170)

Imhoff cone is used to determine :
(dissolved solids/settlable solids/volatile solids)

SFRI% X% 1 IWANT I Ui F % fere foram S &

[Full. Marks: 70]

(afera 3r Sra/deciee ra/amTeiicr 3r)
Match the following:
List 1 List 2
(Impurities) (disease)

A. Nitrate concentration > 45 ppm 1. Laxative Effect

B. Sulphate concentration > 250 ppm

2. Discoloration of teeth

C. Fluoride concentration < 1.0 ppm

3. Cavities in teeth

D. Fluoride concentration > 1.5 ppm

4. Methemoglobinemia or blue baby

disease Codes
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Hardness of water is caused by the presence of the following in water:
(a) Chloride and sulphate (b) Calcium and magnesium
(c) Nitrites and nitrates (d) Sodium and potassium
STeT T ST Stet H Frefertad sht Sufeufa % HRor gt 2
(v) FrTES SR Tk (sfY) Ffeerny ofiv Avfifsrem
() ArsgrSe 3R ArELE () wifem 3i qrefiem

What is the correct sequence among treatment processes listed below if all these
are considered compulsory?

1.Coagulation

2.Sedimentation

3.Filtration

4. Flocculation

5. chlorination

e et TR SfRTeTt o e Wt hH T § At 37 @it i AFErd A/ S 8?
1 .swmEe

2. g9red

3. fwde

4, S

5. Fetrfrehor

Which one of the following pairs is not correctly matched?
(a) Check valve — To check water flow in all directions

(b) Sluice valve - to control flow of water through pipelines
(c) Airvalve —to release the accumulated air

(d) Scour valve —to remove silt in a pipeline

frfafad # & i @1 SireT w2t gafaa T2t 872

(1) = ared - wft fewmedt # art % waTe Y S e F forn

() =Tz AT - TRl % HTE ¥ U o YaTe i ffa w % g
(&) o ares - fere arg i sre fee % fore

() PR T - RIS | e g & fog

The abbreviation of B.O.D. is

ot 311X, & g R |
The grease and oil present in sewage are removed in tank.
o # Hig e SR 7 o T aTen fhrer T i 2
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Q.2

Q.3

Q.4

Q.5

Q.6

Q7

Q.8

Group (B) (g -#)

Answer all five questions. (wsft afer wsit & 3w )
State the various surface sources of water.
St o faf¥r=T |ae! |di o Seerd Hie|

OR (sream)
What are the various types of water demand?
STet S 7 o Tt yeRr o 82

State the standards of drinking water.
YoISTel o AT dm|

OR (steram)

4x5=20

What do you mean by per capita demand and fluctuation of demand?

yfer safch HitT T 7T 3 IAN-<GT § 1T 971 GHSd &7

Describe, with sketches, the methods of distribution system.

feraor yomret Y farfert st e wfed afa )
OR (sreram)
Write short notes on the following with neat sketch:
(a) Airvalve
(b) Sluice valve

Ffiad T |T6-Her Th & |1 Hiew ey o

Define filtration and state any four objectives of filtration.
g o1 ufenfiyg st siR fedeT & Rl = el ot sram)
OR (areram)
Differentiate between Flocculation and Coagulation.
FI Td TR H 3T T A |

Discuss the physical tests of sewage.
A o witfereh wdveqo W ==t
OR (sreram)
Discuss the chemical tests of sewage.
e % T weon @ ==t

Group (C) (gu - #)

Answer all five questions. (wsft uier wsit & 3w S |)
State the factors that affect the rate of water demand.
STt Sl AT it ST T THIFId L STt SRR T Sooid hifsr|

OR (sreram)
State the methods of population forecast.
ST qatgAT i fafeat s

6x5=30

The population of city from census record, for last four decades is given in the
following table. Calculate population at the end of year 2041 and 2061 by

arithmetic increase method.

Year 1981 1991 2001

2011

Population 1,00,000 1, 09,000 1,16000

1,28,200
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Q.9

Q.10

Q.11

Ut = <Rl o SHTTOHT fiehie & Sret it Seea Feferfiaa arferser o < € 21 o 2041 =ik 2061
% 3T o SEEAT il AT RO i fafr | &
af 1981 1991 2001 2011
ST 1,00,000 1, 09,000 1,16000 1,28,200
OR (3teram)
Census record of a town is shown in tabular form. Find the population in 2021 2 3
and 2031 by Geometrical increase method:
Year 1981 1991 2001 2011
Population 17000 22000 28000 34500
foreft 318t o SO STfeRg st SRufeg, §9 § giter w71 At afg grr aw 2021 v 2031 #
ST T
Year 1981 1991 2001 2011
Population 17000 22000 28000 34500
Distinguish between the following: 4 | 2
(@) Pre-chlorination and post-chlorination
(b) Super-chlorination and dechlorination
(c) Plain chlorination and break-point chlorination.
e % st sia i
() Te-FATERT ST gef-aA R eReoT
(5f1) goe-aARIATRTOT ST AR = ehToT
(&) dTaT FARIRIT 3TR sieh-uige FRIHTHT]
OR (areram)
Give comparative details between slow sand filter and rapid sand filter. 4 | 2
effit 4 fiheet ST et @ foheet o offer qomTereh foraor 3
State the systems of sewerage. Describe separate system with merits and 5 2
demerits.
ISt shT STy SIdTsd| Jor YOI 3T 0 U @19 |igd qui shifsg)
OR (ateram)
Differentiate between 5 2
Q) Aerobic and anaerobic process  (ii) BOD and COD
T
Q) e 3 s gt (i) stere ofit et
Explain activated sludge process. 5 2
AlsHA ATk TR h TS|
OR (steram)
Discuss the theory of septic tanks. Describe a septic tank with sketch. 5 2
Yftesk o & frgia W ==t wil dftess 3o 1 et wfea avia w4
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